The acceleration due to gravity
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a) Aim: to find the acceleration due to gravity of different objects 

b) EQUIPMENT 
1     Data-logging system

1      picket fence

1 photogate 

1 
clamp 
c) Diagram 

              fence

                     photogate


 

c) PROCEDURE

1. Set up the apparatus as shown in the above figure.

2. Open a:gravity.

3. Release the fence downward (Don’t throw it. Release it gentlely)

4. Record the acceleration of the fence, g.

5. Attach another fence to the fence and repeat the experiment.

6. Attach another two fences to the fence and repeat the experiment.

d) Result


One fence 
Two fences
 Three fences

Acceleration g/ms-2




         Q.1 Does a heavier object fall faster? ____________________

e) Conclusion:

The acceleration of gravity is _______________ whatever the______ of an objects.
f) Question

  Q.1  The heavier an object, the greater gravitational force is. Why the accelerations of objects of different mass due to gravity are the same?

  Q.2 
When a feature and a coin falls down, we observe that the coin falls much faster. Can you explain the phenomena?
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